
EAN: 7350105210495 

M Motorized Pull Down 
Full Motion Flexarm 42"-86"



IMPORTANT!
Your Plasma. LCD, TV, Projector, Projector Screen or other HiFi equipment represents a 
considerable value.

Replace the screws with suitable ones if needed. 
In case you are unsure regarding any aspects of the mounting of this product please 
Consult a professional.

 
DŮLEŽITÉ!
Váš plazmový nebo LCD televizor, projektor, plátno a další elektrotechnické vybavení je 
vysoce hodnotné.
Pokud jsou součástí balení produktu šrouby, zkontrolujte, zda jsou vhodné pro upevnění ke 
stěně, stropu nebo podlaze v místě instalace.
V případě, že nebudou přibalené šrouby vyhovovat, vyměňte je.
Pokud budete mít při montáži tohoto produktu potíže, obraťte se na zkušeného odborníka.

VIGTIGT!  
Din plasmaskærrn, LCD-skærm, tv, projektor, projektorskærrn eler andet HiFi-udstyr 
repræsenterer en betydelig værdi. Hvis der medfølger skruer, passer de muligvis ikke til 
materialet i væggen, loftet eller gulvet. Udskift skruerne med passende skruer, hvis det er 
nødvendigt.  
Hvis du er i tvivl om noget i forbindelse med monteringen af produktet, skal du kontakte en 
ekspert.

BELANGRIJK!
Uw Plasma,LCD TV, Projector, Projector scherm of andere HiFi-apparatuur vertegenwoor-
digt een aanzienlijke waarde.
Het kan zijn dat de bijgeleverde schroeven niet geschikt zijn voor uw toepassing. In dat 
geval dient u ze te vervangen door schroeven die wel geschikt zijn. Twijfelt U, raadpleeg 
dan een professional.

TÄHTIS! 
Teie teler, projektor, projektori ekraan või muu HiFi seade on suure väärtusega. 
Kui kinnitusel on komplektis paigalduskruvid, siis ei pruugi need sobida Teie seina, lae või 
põranda materjaliga. Vajadusel vahetage kruvid sobivate vastu. 
Kui Te ei ole seadme paigaldamise detailides kindel, siis konsulteerige spetsialistiga.

ACHTUNG!  
Ihr Plasma-, LCD-, TV-Gerät, Ihr Projektor, Ihre Leinwand oder sonstige HiFi-Ausrüstung 
stelle einen beträchtlichen Wert dar. Die möglicherweise im Lieferumfang enthaltenen 
Schrauben sind unter Umständen nicht für das Material ihrer Wände, Decken oder Böden 
geeignet. Ersetzen Sie sie bei Bedarf durch geeignete Schrauben. 
Wenn Sle bezüglich der Montage des Produkts unsicher sind, wenden Sie sich an einen 
Fachman

ΣΗΜΑΝΤΙΚΟ!  
ΟΙ τηλεοράσεις ΡΙαsmα, LCD, α κανονικές τηλεοράσεις, οι οθόνες προβολέων ή άλλες 
συσκευές HiFi έχουν μία αξιοσημείωτη αξία. Αν περιλαμβάνονται βίδες Ισως να μην είναι 
κατάλληλες για το υλικό του τοίχου, του ταβανιού ή του πmώμστός σας. Αντικαταστήστε τις 
βίδες με κατάλληλες αν είναι απαραίτητο. 
Στην περίπτωση που δεν είστε σίγουροι για κάποιες ζητήματα σχετικά με την προσάρτηση 
αυτού του προϊόντος, παρακαλούμε συμβουλευτείτε έναν ειδικό.

IMPORTANTE!  
Los equipos de plasma o LCD, los televisores, proyectores y pantallas de proyección, 

tornillos, puede que no sean adecuados para el material del que estén formados la pared. 
el techo o el suelo. Sustituya estos tomillos por otros más adecuados si es preciso. 
Si no está seguro sobre cualquier aspecto del montaje de este producto, consulte a un 
profesional.

TÄRKEÄÄ!  
Plasma- tai nestekidenäyttöjen, televisioiden. projektorien ja niiden valkokankaiden sekä 

välttämättä sovellu seinien, katon tai lattian materiaaliin. Korvaa ne tarvittaessa sopivilla 
ruuveilla. 
Mikäli olet epävarma mistä tahansa tämän tuotteen kiinnittämiseen liittyvästä seikasta, ota 
yhteys asiantuntijaan.
 
IMPORTANT!  
Vos écrans plasma. LCD. télévisions, projecteurs, écrans de projection ou autre matériel 
Hi Fi ont une valeur considérable. Les vis fournies peuvent ne pas être compatibles à la 
nature de vos murs, plafonds et sols. Remplacez-les par des vis adaptées. 
Si vous avez des doutes quant au montage de ce produit, veuillez consulter un professi-
onnel.

FONTOS!
Plazma, LCD TV-d, projektorod, vetítővásznad vagy egyéb műszaki berendezéseid 
tekintélyes értéket képvisel. Ha a csavarokat tartalmazza, akkor sem biztos, hogy alkalmas 
a berendezés, hogy falra, mennyezetre, vagy a padlóhoz rögzítsd. Cseréld ki a csavarokat 
a megfelelőre, ha szükséges. Abban az esetben, ha nem biztos a termék beépítésével 
kapcsolatban, forduljon szakemberhez.

IMPORTANTE!  
I vostri plasma, LCD, TV. proiettori, schermi di proiezione o altri apparecchi Hi-Fi rap-pre-
sentano un notevole investimento. Le viti in dotazione potrebbero rivelarsi non adatte per il 

caso di necessità. 
Nel caso riscontriate problemi nel montaggio di questo prodotto, consultate un tecnico 
specializzato.

重要！
あなたのプラズマ。 LCDは、テレビ、プロジェクタ、プロジェクタースクリーンまたは他
のハイファイ機器はかなりの値を表します。
ネジが含まれている場合、彼らはあなたの壁、天井や床の材質に適していないかもしれ
ません。
必要に応じて適切なものでネジを取り付けます。
ケースでは、本製品の取り付けのいずれかの側面に関して不明な点があるプロに相談して
ください。

VIKTIG!  
Din plasma, LCD, TV, projektor, projektorskjerm eller annet HiFi-utstyr har betydelig verdi. 
Hvis skruer følger med, er det ikke sikkert at de passer til materialet i veggen, taket eller 
gulvet. Bytt skruene i skruer som er egnet om nødvendig. 
Hvis du er usikker når det gjelder montering av dette produktet, må du kontakte en profes-
jonell.

UWAGA!  
Monitor plazmowy, LCD, telewizor, projektor, ekran projekcyjny lub inny sprzęt HiFi stanowi 
znaczną wartość. Jeśli dołączono do niego śruby mocujące, mogą one nie być odpowied-

należy je zastąpić odpowiednimi śrubami. 
W razie jakichkolwiek wątpliwości dotyczących montowania tego urządzenia należy za-
sięgnąć porady u specjalisty.

IMPORTANTE!
O seu Plasma. LCD, TV, projetor, tela de projeção ou outro equipamento de HiFi representa 
um valor considerável.
Se os parafusos estão incluídos eles podem não ser adequados para o material da sua 
parede, teto ou chão.
Substitua os parafusos com os adequados, se necessário.
Em caso de dúvida sobre quaisquer aspectos da montagem deste produto, consulte um 

SVARĪGI ! 
Jūsu Plasma. LCD, TV, projektors, projektora ekrāns vai cita HiFi iekārtas veido ievērojamu 
vērtību. 
Iekļautās skrūves var būt nepiemērotas jūsu sienu, griestu vai grīdas materiāliem. 
Nomainiet skrūves ar piemērotām skrūvēm, ja nepieciešams. 
Gadījumā, ja jūs neesat pārliecināts par jebkuriem šo produktu montāžas un stiprinājumu 
aspektiem, lūdzu, konsultējieties ar speciālistu

SVARBU! 
Jūsų plazminis TV, LCD, LED televizorius, projektorius, projektoriaus ekranas ar kita HiFi 
įranga turi didelę vertę. 
Jei varžtai yra komplekte, jie gali netikti pas Jus panaudotoms sienų, lubų ar grindų medži-
agoms. 
Pakeiskite varžtus į tinkamus, jei reikia. 
Jei nesate tikras dėl bet kurio šio produkto montavimo aspekto- prašome  kreiptis į profesi-
onalus.

IMPORTANT!
Plasma ta. LCD, TV, proiector, ecran de proiecție sau alte echipamente HiFi reprezintă o 
valoare considerabilă.

tavan sau podea.
Remontați șuruburile cu cele adecvate, dacă este necesar.
În cazul în care nu sunteți sigur cu privire la orice aspecte ale montării acestui produs vă 
rugăm să consultați un profesionist.

ВНИМАНИЕ! 
Каким 6ы оборудованием HiFi вы ни пользовались, будь то плазменный, ЖК или 
стандартный телевизор. проектор или проекционный экран, - все они представляют 
значительную ценность. Не всегда крепления, прилагаемые в комплекте, подходят к 
материалу ваших стен, потолка или попа. При необходимости замените их на более 
подходящие. 
Если у вас есть какие-либо сомнения относительно того, как крепить данный продукт. 
пожалуйста, проконсультируйтесь у квалифицированного специалиста.

VIKTIGT!  
Din plasmaskärm, LCD-skärm, TV, projektor, projektorskärm eller annan HiFi-utrustning 
representerar ett ansenligt värde. Om skruvar medföljer utrustningen är det inte säkert att 
de passar för materialet i väggen, taket eller golvet! Byt ut skruvarna mot lämpliga skruvar 
om så krävs. Kontakta en expert om du är osäker på något i samband med monteringen av 
produkten.

DÔLEŽITÉ!
Váš plazmový alebo LCD televízor, projektor, plátno a ďalšie elektrotechnické vybavenie je 
vysoko hodnotné.
Pokiaľ sú súčasťou balenia produktu skrutky, skontrolujte, či sú vhodné pre upevnenie k 
stene, stropu alebo podlahe v mieste inštalácie.
V prípade, že nebudú pribalené skrutky vyhovovať, vymeňte ich.
Pokiaľ budete mať pri montáži produktu potiaže, obráťte sa na skúseného odborníka

POMEMBNO!
Vaš Plasma. LCD, TV, projektor, projekcijsko platno ali drugo HiFi oprema predstavlja 
pomembno vrednost.
Če so vključeni vijaki ne smejo biti primerni za material svojega steno, strop ali tla.
Ponovno namestite vijake z ustreznimi tiste, če je potrebno.
V primeru, da ste prepričani o vseh vidikih vgradnjo tega izdelka se obrnite na strokovnjaka.

ÖNEMLI!  
Plazma, LCD, TV, Projektör, Projektör Ekranınız veya diğer HiFi cihazınız son derece 
değerlidir. Birlikte verilen vidalar duvar, tavan veya döşeme teçhizatınıza uygun olmayabilir. 
Gerektiğinde vidaları uygun olanlarla değiştirin. 
Bu ürünün monte şekilleri ile ilgili sorunlarınız olması halinde bir uzmandan yardım alın.

2



3



Past list

4

X 4X 1 X 1 X 1

Bubble Level

J: Cable Ties

x4 x4
E: φ16xφ6.2x1.5mm

φ16xφ8.2x1.5mm

D: M8 x25 mmB: M5 x 16 mm

x4
C: M6 x 16 mm

x4
A: M4 x 16 mm

x4

C1: M5 / M6

x2
C2: 5 mm

x8

G: M8 x 45 mm
wrench

x4 x1

x1 x1

x6
H: ST 8 x 65mm I: Concrete Anchor

x6

x7 L=200mm - 5pcs
L=400mm - 2pcs

C3: M8 x 60 mm

x4

x2
C4：M6 C5：5mm

F: M5 x 8 mm

x4

Electric Motorized24” Wall Plate

（

（



5

X 1

X4

X 1

X 1

X 1

Socket Wrench Wood Bit Brick or Concrete BitStud FinderPencil Drill BatteryMeasuring Tape  Hammer

Required Tools (Not Included) Wood stud wall Concrete wall

Phillips Screwdriver

16"
3

8"
3

13mm

Installation Template

Remote Control
X 1

Controller

Power Cable

Adapter Assy

100 lbs 42”-86”
(45 kg)

800 x 500
100 x 100-

VESA
COMPLIANT



6

INSTALLATION AND OPERATION
Use a thermometer to assess the temperature above the fireplace. The temperature at the 
front of the fireplace mantel must never exceed 100 degree F. Additionally, if the wall is warm 
to touch it is not suitable for installation. 

   For installation to wooden studs, ensure that the studs are spaced no more than 24inches 
apart and the dry wall is no more than 5/8" thick. The studs should be symmetrically 
positioned or the installation will not be symmetrical to the fireplace mantel.

   The distance from  the mesa of the fireplace to the wall must be less than 18″(45.7cm).

≤18"

STUDS
100°F Max

If mantel extends:

Less than 8 inches Add 5 inches

Add 9 inches

Add 11 inches

Add 14 inches

8-11 inches

11-13 inches

13-16 inches

Required Clearance:

4.

1 .

2.

3.

This mount is intended for flat screen televisions (LCD, LED, Plasma) only. The 
mounted television should be between 42 ~ 86" with a max load of 100 lbs . 

5. The vertical space above the mantel must be greater 
    than the height  of the wallboard .The required vertical
    space depends on how far the mantel extends out 
    from the wall.

Mantel
Extends



7

INSTALLATION 

6. Description of remote control 7. Description of controller

Linear actuator

power 
cable

Input:100-240V~50/80Hz,Max.200W
Output:24V   4.5A/Linear actuator
Duty cycle:10%,Max.2min operate/Min.18min stop

Upward/Downward Movement

Press and hold the ”△”
button to lift the mount.

Press and hold the ”▽”
button to lower the mount.

Use a tape measure to determine the center point of the mantel. Mark the centerline with a 
pencil or tape.

Use a stud finder to locate the two studs on the wall and measure the distance between the 
two. 

Remote control pairing switch

Pairing：Press UP  and DOWN  buttons at the same time，then long press PAIRING 
button till you hear a "drip" from the controller



8

WOOD1

To determine the height distance
from the mantel, reference step 5
on page 6.

Be sure to drill into the center of
the wood stud. 

Suitable for 16” or 24” apart studs



To determine the height distance
from the mantel, reference step 5
on page 6.

Insert Concrete Anchor (I) 

68mm

φ10mm

9



10

pull out

Installation 

Press the remote control to lower
the main body to 30°

Power on

1 2

3 4



11

C4
C1

a. VESA:100X100-200X200

b. VESA:200X200-800X500

5

6

Cable ties  

C3 5mm



12

H

a. Wood

b. Brick or concrete

7

H

I



13

Put in the wallboard cover

Lower the main body to the right position  for installing

8

9

Cable tiesFix the controler

cover



14

a. VESA:100X100-200X200

b. VESA:300X200-800X500

10

A+E or B+E or 
C+E or D or G

C2

A+E or B+E or 
C+E or D or G

C2

or

or



15

11

12

13

F

Horizontal ±5°

Fix the TV



16

15

14

(Optional )

Soundbar (TV size 42”-80”)

(Side View)

Tilt -5 ~ +10°

Down

UP



17

16

Cable ties

Cable management

17

(Top View) 

Swivel ±30°

30° ﹣30°



18

Dimensions 

Make the TV be parallel to the wall to prevent it from being 
damaged before adjusting the TV height

Down

UP

TV

TV
29

1m
m

 [1
1.

5″
]φ8.3mm [φ0.3″]

34
5m

m
[1

3.
5″

]

406.4mm [16.0″]

52
7m

m
 [2

0.
7″

]

100mm [3.9″]

680mm [26.8″]

234mm [9.2″]

108.4mm [4.3″]

24
0m

m
[9

.4
″]

886mm [34.9″]

230mm [9.1″]

200mm [7.9″]

535mm[21.0″](Max)

11
8°

m
m

128mm[5.0″](Min)

10
0m

m
 [3

.9
″]

609.6mm [24.0″]

φ6.5mm [φ0.3″]

20
0m

m
 [7

.9
″] 63

0m
m

[2
4.

8″
](M

ax
)

±30°

+1
0°

/-5
°

15
0m

m
 [5

.9
″]


